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QUESTION 1

User USERL1 wants to retrieve records from a table named EMPLOYEE that satisfy at least one of the following criteria:
Which SQL statement will accomplish this?

A. SELECT * FROM employeeWHERE (hiredate

B. SELECT * FROM employeeWHERE (hiredate

C. SELECT * FROM employeeWHERE (hiredate

D. SELECT * FROM employeeWHERE (hiredate

Correct Answer: A

QUESTION 2

What is the minimum product required for DB2 connectivity across all platforms?
A. DB2 Personal Edition

B. DB2 Development Edition

C. DB2 Connect Personal Edition

D. DB2 Development Unlimited Edition

Correct Answer: C

QUESTION 3

What is a function of a table check constraint?

A. To provide a method of avoiding duplicate entries for a column.

B. To provide a method of ensuring a column\\'s values are within a specific range.

C. To ensure that XML columns are properly populated in an associated XML table space.

D. To enforce relationships between tables by checking the existence of rows in one table against another.

Correct Answer: B

QUESTION 4

What type of large object (LOB) is used to store LOB data together with the formatted rows on data pages, instead of in
a separate LOB storage object?
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A. inline

B. binary
C. internal
D. partitioned

Correct Answer: A

QUESTION 5
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Which privilege is required to invoke a user defined function?

A. CALL

B. USAGE

C. EXECUTE

D. REFERENCES

Correct Answer: C
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